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11/22/2020 ’ Number Pyramid Puzzles

Number Pyramid Puzzles

Insert a non-zero digit in each vacant square so that the digit in each square
1s the sum or difference of the digits in the two squares immediately below
it. Digits in similarly colored squares will be the same.

T
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Labyrinth Sudoku « | By Sylvain Hogue

In each puzzle below, fill in the grid so that every row and every column contains the numbers 1 through 3 exactly onca. i
addition, starting from the space indicated by the afrow, the numbers 1 through 3 must travel along the path defined by the
bold line in the order 1, 2, 3, 1, 2, 3, etc. Thére may be one or more emply spaces beforé or aiter the numbers in the path.
The puzzles on this page start out easy and become progressively harder, An example is shown below.

ANSWERS, PAGE 50
q 3j2|1] |4
i 11213}
Example: 3t 1 — {21 | |s]1
1{ | 31 {11 |2
11 |2|3
3
1. 2. 3
_ - : : " _ 3
2 2 | p
b :
12 3 1 ’ e
> 3
: b
_ ———



More Non-Zero Paths (Erich Friedman)

7]

e

©

7

11

11

12

RE

NUMBERS
1-12

Try Angles +

Connect some of the points with iin_e segments so that every point is part of an angle. Each angle consists of one p‘biri{
connected to two others with two line segments of equal length. No angles will be 180 degrees, or cross other angles.

By Erich Friedman

We've completed the first puzzle as an example. ANSWERS, PAGE 56
k] _ 2 3 4 5
| & e o . ® L °
/\9 e @ s €& @ e o ®
v e o L @ e @ ® ¢ o ¢ o @
. L—z ® o e ® o o e ®
p G 8 S
& ® ® & ® o
® ® @ ® e o ® & ©
e ° L @ ® ®
® ° ° e o 0 L B
® o % 1® ® e L L

Can yol place the letiers A, B, and C in Puzzle 1 below in such a way that each appears exactly

once in each row and column?
Your only clues asto how'to proceed are the letters outside the grid. Each outside letterindicates

which letter you'd see first if you looked across a given row or down a given column from the

outside from the outside letter’s perspective. The example at right shows a solved puzzle.

In later puzzles, larger sets of letters are used. Are you up to the challenge?

ANSWERS, PAGE 75

e PUZZIEN (A20)
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Non-Zero Paths ~ By Erich Friedman
i_n each puﬁte helow, place the numbers indicated into the grid, one number per square. Each number must be horfzorrtaﬂst,
vertically, or diagonally adjacent to the number that comes before it. No two numbers in the same row or column can have
2 sum that ends in zero. Sofne humbers in each puzzle have been given to get you started. The first puzzie has been solved

as an example. . ANSWERS, PAGE 54

o 2] © o )
NUMBERS 1 2 3 6 914 4
1-9 81214 2
[
T \
Jumper |

Starting with the circle containing 1, successively jump 1, 2, and 3 units in
a horizontal or vertical direction to place the next number. Each circle
should contain a number, and no numbers should be placed outside circles.
The first puzzle is solved as an example.

!
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|
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000
O 00
elole
olete
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ele

S e

 Knight Loops

Find a loop of knight moves so that the loop does not cross itself, and the
knight lands in each region surrounded by bold lines exactly once.

1. 2. 3. 4. 5
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SQUARING THE SQUARE * BY DAVE TULLER

We'll give it to you straight: Each large square below can be divided into smaller squares such that each smaller square
contains exactly one dot. The divisions can only be drawn along the grid lines shown, as in the example. Once you

figure out a few rules, you'll be squared away in no time. ANSWERS, PAGE 60
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L Uz e s S U o
O © ® @ ®
® & ® @ '
&) ® e
® @
€ ® e e &) ® ® ®
@ .
® @ ®
@ @ @ © ®
S B R R
© @ ® ®
L
@
e o o @ @
® O e |0
@ o0 0 O ®
@ @
® @ ®
® ® @
@ oo o oo
L L e e
o ®
® @
® |@
o
e @
® d
©
@ @ o
\

GAMES MAY 2003 29



('nn® Ix 'nxia7 7gnwn) 6 n1a 2.7

D' NN
NXIapP 727 pnwn Nrip Y TNR AT e
PNYN] qnnwn 0% pnun niniz 2w TR T e

PNYNY QNN 737 NIRXIN NINAI7 0709 NN YW TNR QT e

pnunn "7'D
197 36 -7 0 "2 D%w 190N Pnwnin NINIn TNXR 7 XN 701 DwN PNy 7D ,7nwn N7'NN e
TIX .190N IMIX 7V TN 'K X ,NIXPN W DX 02 11IN27 YWOK .0M%0n 16 7100 70 — Im1'na
.D'RNN 7Y |I'7v0 7702 0w DNsonn
5 10| 4 9 :NNAIT?

O (12 |1 30| 2

11 | 1 7 3

NIIPN 'MY DX D'7'0n e
NX .N70N 1727N0W DN%0NN Y [ (717'N 1K 79D 710N ,01A'N) 720N Pnwnin NI7a DN e
D'2NN ,0'XNN 1901 NI7ZN 7Y 'R DX 72200 INIX DIXXIN XINY 19017 NN DMyN 72200
,NI70 72V NNIYAN NNK ARXINN NP 7227 AWK 0'72pNNnN DNI90NN NIYXAN OX X2 INY
.T272 TNX XN D'Ion
NAT?
DIYNY71) 8 D"ID0NN |'an TR NX [N07 TWOKX 2-1 6 DN NIFAIPN 170N 172PNNY DIY0NN DR -
rmnnn oiw1?1) 3 IR (6 X 2 rmnnn niwn21) 12 (6 — 2 rmnnn oiwn71) 4 ,(6 + 2 'mnnn
7nYnn ni7 2y 0'nivn Ny 'Rama — (6 : 2
NTNpPNn2 .6 IX 1,5 Doon? nnnn 0'7'a0N DIYA7 WWOKR ,3-1 2 DN 172PNNY D'90NN DX -

4217'N 720N NIY¥NXA 0'RNN 097 190N 7377 TWOR-X

37



j7NYN1 nxin
NNIN D10 INIX 7V D'R¥NIN DM190NN NAdIIN DY 7D TWRD — NI'YAN 6 D'7wnY [IWRIN [7NYin
JIODIR IMIN I MY

JNYUNN IR NNX DY Ipnv .1

[IYXID Pnwna ANX7 Nin'wn
2V o1 DNY 'RTD X7 271) 7nwnn 7w 07700 9% 7277 C'wor-x 36 -7 0 "aw nMvon 17K .2

(.nT 2100 0"MDON 16 DIw'l ,N78N DM9oNN N TNX KIN 13 1) ?(Znwnin NI?

JIRXIN NINAY 9TV [1AWNN NI7IYO YR ¢ NiNfn nx m'en .3
TV 098N 090NN 37 |'an TNX 72 N7277 NNanonn NX AwN? 1> DNY0XY DN IYNNYN

.NXIAPN 2N 2 NTIAYN DX P07 1701M .36

790N o(1,2|3|4 5|6 |7 ]8|910|11)12
14
nNanon —
144
a90n 13 | 14 | 15|16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24
0
nNanon
190n 25|26 | 27 |28 |29 |30 |31 |32 |33 |34 |3 | 36
2
nNanon —
144

DIYAY? 'XTD [DAY PNwnn Ni7a Nixawnn X X-2 o .4

NI NINRAN NINANoNN Y72V DNIY0NN NN

NniN'wna nn7wn 1NX7 0'pnwn
7NYUNN DX IPNYI,DNPONY NIIZONYT7 OXNNA DD7WN PRwn N7 120 NNy .5

lan%¥na  .qixnn 9Taw 0PN ZRwnn NN wnnwn? 170im

38



5 12212 pnwn'? D' NNty

39



(3 An'wn) nIxxIn NI a1y niniy

+ 4 5 6  |—-|1 2
1 1
2 2
3 3
4 4
5 5
6 6
X 4 5 6 1 |2
1 1
2 2
3 3
4 4
5 5
6 6

40




15 30 9 18
22 36 25 0

12 16 11 13
24 5 10 20

(.n'7xN DMDONN NX 7277 'O 'R, M) .

41

0 2w nNanon oy Ni7a 090N v w!

?0M90n Y AT



7NYn NI7 - 0MNaAY nimn nirgoT 2.8

| =

1
5 4 3 5

w
=] W
U]
O\ | U




10

12

15

16

18

20

24

25

30

36




D p7NYn NinY

1 oy nrapn 75 NX 0910 1
2 ny niriEn 75 NX 0910 2
3 oy nIipEn 75 NX 0910 3
4 ny nipn 75 NX 0910 4
5 oy nrapn 75 nx 0910 5
6 Dy nIpEn 75 NX 0910 6

Dido

71 35 ,+63 D10 DX oni

NIIZN 72 NX 0NN 12T INIXK ¥ anwhy 3 of a kind
NN 75 NX 0NN 72T INIX 7¥ Anynn 4 of a kind
m 25 el T Full House
7 30 4 v qxn Sm. Straight
40 5% qxn Lg. Straight
'm 50 YN YAHTZEE
NN 75 NX 0NN nnNT Chance
qon Tnx 73 7y 'im 100 onil '¥N! YAHTZEE
BONUS
[IMNN 270 Do
|[1I"?7y 770 DDO
1910 DIDO
DI7NYN NInY
1 Doy nIrapn 75 NX 0910 1
2 ny nipEn 75 NX 0910 2
3 oy nIEn 75 NX 0910 3
4 ny niapn 75 NX 0910 4
5 oy nripn 75 nx 0910 5
6 Dy nIIEn 75 NX 0910 6
Do
7 35 ,+63 nIdo DX oni
NN 7 NX 0NN 71T INIX ¥ anwty 3 of a kind
NIMIpn D NX 0Nann 12T INIX 7Y dryan 4 of a kind
M 25 nnwhvl T Full House
"m 30 4 v qxn Sm. Straight
M40 59 g¥n Lg. Straight
'm 50 I¥N! YAHTZEE
Nipn 75 X 0NaNN nNNTM Chance
qon Tnx 73 7y 'im 100 Ol11Q '¥N! YAHTZEE
BONUS

[INNN 770 DDO

|[1"?y 7'7n DO

910 DIDO




45

q0'710 'xxt 2.1
n70n m
1 oy nIapEn 75 NX 0910 1
2 ny NN 75 NX 0910 2
3 oy nIipEn 75 NX 0910 3
4 ny niapn 75 NX 0910 4
5 oy nraipEn 75 nX 0910 5
6 oy nrapn 7> NX 0910 6
nido
1 35 ,+63 D1>0 DN oni
NN 7> NX DN 72T INIX ¥ anwty 3 of a kind
NN 7> DX DMaNN 72T INIX 7¥ Anynn 4 of a kind
m 25 X'm na/nmwwi air | Full House
7 30 4 v qxn Sm. Straight
"m 40 5% qxn Lg. Straight
'm 50 I¥N! YAHTZEE
NiIpn 75 X 0NaNn nNNTM Chance
qon TnxX 73 7y ';m 100 oni '¥x' YAHTZEE
BONUS
|7 770 DdO
[IMNN P70 Do
1910 DIDO
. 2,2,3,5,6 . 3,3,3,3,3
. 1,3,6,6,6 2,3,455
. 3,3,3,35 1,1,1,55
. 3,4,4,4,5 . 2,5,5,5,6
. 3,6,6,6,6 . 244,44
. 2,2,2,2,5 . 1,2,3,45
.1,2,255




367w 1 -n"19%0n 3.1

8 36 9 1
4 5
13 36|13 17
17 33 33
31 22
22 26 30 26
1 36 1|6
31 10
5 26
10 29
20
16 21 17|36 34
16 19 1|6
21 12
34
26 36|25
29 36 30

46




32 1 7 36
36 28 12
24 3
14| 9 17 32
1 22 27
19 5
5 1 15 16
11
36 10 1 22
23 5
32 19 26 36
28 31
20
10 5 15 25
36
30 16 | 1 1 (10
6 30
26 21 36

47




n"oon '9%7 ow7ixn 3.2

48



nmoon '9% owixn 3.2

49



nurwwm 3.3

50




nurwwm 3.3

51




D'NTPNNY D"90on nWItY oy ayaas 71 3.4

(nn121 X7 ninvon D) 0D — B
(o1 nizna X7 72X ;190N NY'SIn NIND0N NNX) Ny'ao — P
(11230 nina ny'oIm nNvon NnX) 72— F

1. 2. 3.
378-B 123 -P 246 -B
260-B 987 -P 357-P
914 - PF 147 -F 358 -FP
594 - PF 349 -F 598 - FF
154 - PP 845 - FF 508 - FF
861-P
4. 5. 6.
123-B 951-P 468 - B
468 - F 123 -F 374-P
579-F 175-P 132 -P
470 - FP 563 -B 693 -F
903 - FF
953 - FP
7. 8. 9.
357-B 123 -FP 124 - P
642 -B 456 - B 468 - B
590 - PP 789 -P 273-P
908 - FF 273 -PP 592 -P
819 - PP 307 -FP 239-B
108 - FP 127 - FF 810-P
10. 11. 12.
123 -P 907 -F 157 -8B
456 - B 815-P 246 -F
789 -F 456 - B 308-P
208 - F 789 -P 940-P
730 -FP 102-P 734 -F
390 - PP
803-P

52



n7nx vwnn 3.5

.02min omPon 7NN D nxawn 3K (5T 1) nitix S ikxn .1

C/D|E} F _ABCDE
X
A
A
T

N

3

-
7
9
9
5
3
344 s 114566 60

o -1 h =

53



Game of Life

A/B|C DE|F|IG|H

A/B|C D E|F|IG|H

A|/B|C/DEIF|G|H

A|/B|C/DE|F|G|H

A/B|C/DEIF|IG|H

A/B|C/ DE|F|IG|H

54



o"nn pnun 3.6

A/B|C DE|F|IG|H

A/B|C D E|F|IG|H

A|/B|C/DEIF|G|H

A|/B|C/DE|F|G|H

A/B|C/DEIF|IG|H

A/B|C/ DE|F|IG|H

55



917w 1-n"nyon 3.7

4 N

1 712N

3 an 27N
1
1] — | 2
111 T
t t

56




(Awnn) 16 Tv 1 -n 'n7on 3.7

6 720N

11

W« W

592N

FreeCell/Momo

:DN7YW 150NN '97 DNNXIY O'7NYN NX Inwn

57



nonivn nn 3.8

nolio ,win ,mn!

190 ,M1Y'Y ,No1d

YKx1 VN LAY, NMun

q195n , N2 Ny

YOXN ,NIS ,0Mn

170 YN NN

NN ,Wo1 ,NI7IYO

N NN

No9IN ,01'N ,NINN

no ,N'XWYn ,N'vis'n

Do ,0'" T ,N1an

NI, NTY WY

ny 7N, navnn

nURIR In wuny

TARIY ;N1 WY

|7V ,ni'n ,Nain

OMIRTAT ,NOy? ,|]ANX

X9 ,0' ;M

D'UXY NIy 0T

yow nmnwn ,Tn

yaoun ,'xwr  yn

n'7n ,NINY ,0ITX

WY ,TIT ,NO95IN

D'NIYI ,DI7Y N7 .
.25
.26
27
.28
.29
.30

D IpPT 72V ,0TR

n'72m1,]2% ,M10

n'T7' Wy LM

7oK v

™ NNy, T

yxan ,7na ,uTm

58

© N o o~ W N

.10
A1
A2
A3
A4
A5
.16
A7
.18
A9
.20
21
22
.23

24



u kS
E ©
%0

&

:

S

B

- 3
B

I

S

]

]

|

B
=

11{ |
I I

i

End]

|
S Rern
of
nsull

==
||IJ]||i _ﬁﬁ'l_

A

_|

i

]

L

IR

Bl

L

|

ol

{

ERlin

L
U%ML
e
2T
e

:
T

\_‘_
[
=
e
=]

s

[l

|

InH
L
%&

62 9zely




| 0 646_ {(e] o — N I~ ~
ENE [ [ o o [~
- , < o I~ . =
e p— | | |eol w| | [=o]{as] |1 o 28] 2 | o ”7442_2 o™ Sm
W oo“ = 72 o] © O m| O < ™ m < ooy 7& g
firr | ; (@] | | o~
© | |—| | |oo| |0 @ L o< | ) oo |[1n o "
= = AT © © [t |[™ o |w ©| ~ — | & O | | B
o] |<|o| |ca w| (™ |m | | o ®j© —| || [oo|o|=] [= o N © m| |(m
=l ,
o |< o o] o ; ey YL S = <+ 3 —la [ o o 0| | << s2] [ap]
. , , |
lcalod|oa o IRl iy I=) Cullen = | oo Lo @ |0 w <+ <t <t
™ o | | — : i T
= = o 33 ) » |® <+ = _ = ) il )
m o™ ® I I
22 e = + aiel B2 <r|w© w I~ [~ [ |2
CREE = o~ o~ | el < ofe| | - o I |
o | = < | —| [ — - ™ ™ <[ <+ <+ |ev 93, S w =t | = a
NS ©lea =l <t ~ ool ovjcu — ol ey | 0 o b | W P~ = © m
© lolad =] [0 |m - | o |m ™ 0 = 2W2 n|— o oo |ev I~ @
g | =
o o — ooy (23] <o) o < N Tell w [aX{laN} — M~ S
w | I Rl Pl e [ )| ] e ) e o 2] B (R = _ < | Jo ™| |<r i~ =] [wls
— < I T | ] _ |
L | = b bl [ loolcufev| |~ _ @ ™
| ™ e [f] b~ (s11Ts) [e] | —| 0 ol + T T
R 2 Lo [do] ™ | M~ ~ =
co|<t| <+ 0 | | w [~ 10 <o o |w o “ i | ! ! ~
Lo ) ™ |~ 1 =i~ 0| oo ®| 0| 10 <t| o ol | |<| |o i bt I | — (= — _.3m
wio] (1o o o | [ | |oo | [] o o |w w© 0 ool |t = o | leo| o [ Jeo] lew w| |
7 - T T
[Te} < ~ ooy | <t ™~ — ~ | ™~ A~ 7 AN
_ E3 o] @ ~ ©lwo 0 o [~ =
| 7 = ]
o [w] o< o/ @ © [ o ) N | —| | o=
©o/<t| o] [ololm] [olo] o] lowo
wn 0| || oo < ol ™ = =
o o <t P~ w|w|co WM ~+ (o] (=] | |[coj= I~ I~
e i A 5 o~ lovien) o
o w0
<t [ PP = = = = — w o ™ o ”
=) YA @l o (alital]
o ) = (o X! ™| Joo|— F P
o |~ ™ | | |oo o g LEy o G o E=
= T w0 w @ [ |m|w ™|~ =
afr| [N —|ev © < < o ~ o ™ L. = © o [ |
o N N =2 e © 0 v <t|~t || 10 o o[+l o] [ouleu
I te] o~ M~ < | [« [wo] o L) — | o il N o o
[ Nle ® < o © = < el bt [ ] e = [ =
<t o o ~t = & <+ w o] ™ N i
S I ol s i SEECEDN T
0| |» 1SN ) o~ o = —| > olmm| [mlm
= — © o o M~ [Teilasllap) M~ Ll N P~ [~ | (<t <] |
| |[m - o ~ e ww| |[m o |~ culoo < = = =
i sl QO 2 o A o = - Z
Ly
= = el s ~ - (o] [t | —lodl [eo] [en] oo Py = nq.” Mu.... oJj | O <t
™ o | ] - |0 =
(aU{sY] |
<t M~ I~ £Nl By E2l ‘ — — ™ <
ey (= I L) o L L il = e > m i o - =l ]
= o o = —imegjod] | ]




D'INY "TIA

V ¢ 1/@' YUKI KAWABE

Puzzle example:

P
3 | |
s a1
o T[]
322 . 2 1
- 2/ & vuxiKAwABE
2/ S 3/ @ eoen
2
3
3 g o
3 2
3
2 2
Z 12 4 5
o B e 3/ See L
5/665 SHINICH! AOK} 4/655 TAKEYA SAIKACHI 2
2 2 4 ¥
2 2
2 3
2 2 2 3
3 3
3 1

3

B,



4

3

5|3

S,

3
5

6
7

44

4|4

67

1

7|6

716

2

3!

1

6|7

33

3{3|4

6]7]6

01

1

412j1]|0

5|5

67,7443

4|2

3|3

6/5/4/3|3/4/6

56

6/5/2|1]1

9(4
6
5

012]3

2 4

1

21412{2]1

5143

3/4/5|5

45

03090101967

© Conceplis Puzzles

4[5/4

03

33

3

4|6

45

21

43

313




= g{gﬁ S « " From the GAMES Library

BATTLESHIPS JUMIOR | ' ' - BY MOSHE RUBIN

WWW, mountamvrstasoft.com

Attantion kids {and Battleships novicas): The six puzzles on thls page are easy solitaire versions of the classic
paper-and-pencil game of Battleships. Here's how to play: imagine that sach grid is a section of ocean in whsch
a fleet of six ships is hiding. This fleet consists of one cruiser (three grid cells long), two
destrayers (two cells each), and three submarines (one call each). The ships may lie either | m
horizontally or vertically, and no two ships can occupy adfjacent grid cells, not even C L

diagonaily. The numbers along the outside of the grid tell you how many cells in the

corresponding rows and columns are occupied by ships. P‘

You'll notice that some parts of the oceans have already been mapped out for you.
The wavy lines stand for water—unoccupied water, that is, Water in 2 grid cell means that
no part of a ship can occupy that cell. Other clues given may be a compiete submarine (a

circle) or the end of a ship (a rounded-off square). You can cross off ships below the grids - 5D
as you locate them. An example of a solved puzzle is shown at right. Can you reach the . R
rank of admiral by locating all six fleets? AMSWERS, PAGE 59 . 999

End of a ship (will continue In the
direction of the flat side)

' Middle of a ship (will continue either
“left or right or up and down)

E Water @ Submarine

1-Seaman - 2-Petty Officer ' ; 3-Ensign

jE 1 o 12

3 3 ' w43
§2 G R 1
{o 5 =4

0 () 0

1 H | {0

T13063 171 2102212 21214022

Cruiser Cruiser Cruiser e :

Destroyers Destroyers Destroyers en

Submarines @ @ @ Submari.'nes : @@@ S Submarines @@ ‘

4-Captain ' 5-Commodore 6-Admiral
@ 1 13 = 3
0 1o ' 1
= 3 1 0
& 3 0 2
: C 1 12
- 2 & 114 RN |
22111403 ) 1 3% 27 11 : 2103013
Cruiser Cruiser e - Cruiser m )
Destroyers Destroyers a m Destroyers n

Submarines @ Q 0 Submarines 0 @ @ Submarines ° e @
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KID STUFF *

| BATTLESHIPS JUNIOR BY MOSHE RUBIN

www. rmountainvistasoft.com

Attention kids (and Battleships novices): The six puzzles on this page are easy solitaire versions of the classic
paper-and-pencil game of Battleships. Here’s how to play: Imagine that each grid is a section of ocean in
which a fleet of six ships is hiding. This fleet consists of one cruiser (three grid cells
long), two destroyers (two cells éach), and three submarines (one cell each). The ships
may lie either horizontally or vertically, and no two ships can occupy adjacent grid cells,
not even diagonally. The numbers along the outside of the grid teil you how many celis
in the corresponding rows and columns are occupied by ships.

You'll notice that some parts of the oceans have already been mapped out for you.
The wavy lines stand for water—unoccupied water, that is. Water in a grid cell means
that no part of a ship can occupy that cell. Other clues given may be a complete
- submarine (a circie) or the end of a ship (a rounded-off square). You can cross off ships
below the grids as you locate them. An example of a solved puzzle is shown at right.

~ Can you reach the rank of admiral by locating all six fleets? ANSWERS, PAGE 60
@ Water @ Subrarine @ End of a ship (will continue in the
direction of the fiat side)
T-Seaman & 2-Petty Officer 3-Emnsign
IR E 2 5
0 1 1
0 0 9
2 1 0
P G 1
0 1 2
5 5 1
1213021 4 0 2 1 1 1 1 3010312
Cruiser (8 i Cruiser Cruiser
Destroyers “ Destroyers Destroyers

Submarines @ e e Submarines @ @ @ Submarines @ @ @

4-Captain S5-Commodore 6-Admiral

1 = |1 =3

v 1 0

= 1 | 0 1

1 | 3 1

2 0 1

3 4 0

2 1 4

1210213 21011 41 2201113

cruser  (ERID Cruiser  (RRGES Cruiser
Destroyers “ “ Destroyers “ ‘ Destroyers

Submarines o . ‘ Submarines o @ 0 Submarines
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E: 51,2,3,4,6 5:FEBDAC
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(nuair 8) 70w 712 197 prax' pITY 3.14

nna alhn]
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nna D2
A: 3,5,2,8,1,9,4,7,6 1: b,IG,F,ACB,EH
B: 2,5,3,9,7,1,6,4,8 2. LAD,E,F,C,B,EH,G
C: 5,8,9,2,6,4,1,7,3 3. G,bIFEHBAC
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E: 8,1,9,6,5,2,3,4,7 5. D,G,A,F.B,CH,E
F: 8,1,6,7,2,5,3,4,9 6: F,HG,AD,CB,IE
G: 2,8,1,6,3,5,4,7,9 7. I,F,G,HA,D,CB,E
H: 3,8,5,4,2,1,6,7,9 8 GH,IB,EDCAF
I: 5,29,3,6,1,7,8,4 9: D,FA|IC,G,B,E,H
ni7'nnNn nna

A ]

B |

c i

D

E

F

G

H

I
B _) C,_) O,_ ), ) (F, )G, ) H, ),

D'7'NNn DA

1

2

3

4

5

6

7

8

9
2_) G_ )G _)6_)6_ )7 _)H6_)O

68




(.0'wpm 4 My Ix¥n .n17 D2 p'wpm 4 111 wr) o'wpm 3.15

1 3 1
1 1
1 2 0
* | 1 1
2 3 1
2 1
*
2 2 2
2
2 * |1
1 * 2
2 1
1 2 0
2
2 | *
3 2
* | *
3

11 1
2 2
3 *
3 2
2
2
1
2
*
2 *
1
2 | *
3
* | 2 2
2
1 1

69




NIN9S-1110-nINO 0977 3.16

.22un2 0'9%77n 190N '97 W' D'IN0IMN 0'970 NiNd 7w [INN9n 0y 710 |70Y

n'os%y7 'on n'os%y7 ‘'on \/

22yna n'sivn/n'"INoin
4 1/3

6 2/4

8 2/6

10 2/8

12 3/9

14 3/11

16 3/13

18 4/14

20 4/16

22 4/18

24 5/19

26 5/21

28 5/23

30 6/24

32 6/26

34 6/28

Double Letters

In going over his books one day a bookkeeper was entering figures for a toy

store and noticed the word "balloon” had two consecutive sets of double letters.

| wonder is there is a word with three consecutive sets of double letters. Is there

such a word?
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' Tic-Tac-Logic 99

| Tic-Tac-logic s a single-player puzzle based on fictactoe, a penclkand- | X ! XIX OIX0O0
paper game many of us used to enjoy as children. Using pure logicand fo! | | J[ ]l [cloix x”o%‘;(’
requiring no math to solve, these addictive puzzles offer endless funand | T o £ o'xiolo xx] |
intellectual entertainment to puzzle fans of alf skills and ages. x| T 'xlo B 2 X'Xj‘oo*xf o} |
Each puzzle consists of a grid containing X’s and O's invarious places. The [T 7 1 © 1y _'f()?x 'xiolol
object is to place X or O in the remaining squares so that: (T} thereareno [T g7 = ;bjbéf oixixl

more than two consecutive X%s or O in a row or a column; (2) the number

of X% is the same as the number of O% in each row and column; and (3) all rows are uinigue and all columns are unique. An

sample puzzle and fts solution are shown at right. The puzzles on this page start out easy and get progressively harder.
ANSWERS, PAGE 72

. PUZZLE?2

. PUZZLE1

XX

X [ X|X X

X
X|X
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The Basic Rules of Diagonal Product Sudoku
Like a conventional Sudoku, this Sudoku has two basic rules:

1. Each column, row and 3x3 subgrid must have the numbers 1 to 9.
2. No column, row or subgrid can have two cells with the same number.

The puzzle can be solved with the help of clue-numbers which are small
numbers written next to the arrows on the intersections between cells.
Each clue-number is the product of the two digits in the two cells that are
diagonally adjacent to each other. The position of each pair of diagonally
adjacent squares is indicated by the arrows.

For example, 24 in the bottom left box means that the possible pairs of
numbers for the cells indicated by the arrow are either 3 and 8, 8 and 3, 4
and 6, or 6 and 4.

nrich.maths.org/4928
© University of Cambridge
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u=(ab) v=(cd)
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Strivko 99
Strimko is a logic puzzle created by the Grabarchuk Family and based on the familiar concept of Latin squares, which were
described by the famous Swiss mathematician Leonhard Euler in the 18th century. A Latin square is a square array of numbers,
5 letters, or the like, in which each item appears exactly once in each row and colurnn.
i Similatly, the object of Strimko puzzles is to fill in the grid with missing numbers according to three simple rules. Numbers 1
- through n are used for an nxn grid; as you can see, the numbers 1 through 3 are used for the 3x3 grid in the example below.
i Here are the rules: (1) Each row must contain each number exactly once; (2) Each column must contain each number exactly
- once: (3) Each stream (group of circles connected by lines) must contain each number exactly once. The example below shows
a sample puzzle and its solution. By

The puzzles on these two pages range in size from 4xd4 to 7x7 and from Easy to Master in difficulty. If you enjoy them, many
more can be found at wwwi.strimko.com. ) ANSWERS, PAGE 79
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PATH OF LEAST RESISTANCE ®Q BY JOEL NANNI l

Here's a puzzle that makes getting from A to B a little more interesting. For each of the nine grids below, there is exactly
one path from A to B that visits every white square once and only once while avoiding the black squares. Legal paths
involve moves up, down, left, and right—but no diagonals are allowad.It's helpful to realize that every square except the
endpaints needs an entrance and an exit; this makes the corners and some other squares easy to deal with. Likewise, a
path through any isolated region of the grid that doesn't include an endpeint must have a way out for every way in. Welve
shown an example of a solved puzzle to get you started. ANSWERS, PAGE 75
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Pearls of Wisclom == By Steve Coughlan

e

You're a proud student in the first class of recruits at Bumble & Dumble, a fledgling spy school. Congratulations! You've aced
all the tests so far, but now you must complete your final assignrent—to break into the enemy’s secret headquarters by passing
through a series of doors with special locks. To open them, you must correctly place a specially coded string of beads into the
compartments in a box by each door.

Each string repeats a reguiar pattern (1-2-3-1-2-3...) and consists of the same number of beads as there are compartments
in the box. The first bead (@) is always placed in the upper left compartment; then you must place the string one bead per
compartment, moving either horizontally or vertically, but not diagonally.

Unfortunately, the only other information you have for each lock is given below. if a bead is shown with only one string, no
other strings are attached to that bead. If no strings are shown, the bead might have either one or two strings connected to it.

An empty (non-numbered) bead could be of any number. Sometimes the given information tells you what number of bead
is in a compartment, or shows you that two compartments are connected by the string. Can you fly as a spy by completing the

assignment? ANSWERS, PAGE 61
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Encoded Mines

Put a mine in some blank squares. Each letter stands for a different
number, which indicates how many mines are in the horizontally,
vertically, and diagonally adjacent squares. The code will differ from
puzzle to puzzle.

4. 1.
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B al |B
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0 2 © B |A
S oA C clclB
B B} 1A B A
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5 0O (5 0 A
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_ FIG. 4
Diagram of a Tuckerman traverss on & hexahexafiexagon.

SIRS:
I was quite taken with the article entitled “Flexagons” in

your December issue. It took us only siz or seven hours to -
paste the hexahexzaflexagon together in the proper configur-
ation. Since then it has been o source of continuing wonder.
But we have o problem. This morning one of our fellows
was sitting flexing the hexahexafiexagon idly when the tip
of his necktie became caught in one of the folds. With each
suceessive flex, more of his tie vanished into the flezagon.
With the sizth flexing he disappecred entirely.
We have been flexing the thing madly, and can find no
triace of him, but we have located o sizteenth configuration

of the hexohexaflexngon.
Here is our question: Does his widow draw woerkmen's
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Try Angles *= By Erich Friedman

Connect some of the points with line segments so that every point is part of an angle. Each angle consists of one point
connected to two others with two fine segments of equal length. No angles will be 180 degrees, or cross other angles.

We've completed the first puzzle as an example. ANSWERS, PAGE 54
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PUZZLE ONE
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